REQUEST AUTHORIZATION FOR MAYOR AND FINANCE OFFICER TO SIGN PROFESSIONAL SERVICES AGREEMENT OR AMENDMENT

Date:

Project Name & Nun	nber: 200)8 Environme	ental Monitoring (Contract Landfill MRF		CIP #:
Project Description: Consultant: Amer	addition soils, ar	al years. Co	ontract includes m vironmental moni	act for landfill and MF nonitoring of ground w toring required under	vater, waste water, co	ompost, methane,
Original Contract Amount:	\$ 45,088.8		Original Contract Date:	January 23, 2008	Original Completion Date:	Dec. 31, 2008
Amendment Numbe Amendment Descrip						
Cha	ontract Am ange Reque ontract Am	sted:	\$0.1	Current Comp	bletion Date:	
Funding Source This	s Request: Dept.	Line Item		Com	nments	
\$45,088.84	7102		\$ 45,000 budge	eted for this contract	in 2008	
\$45,088.84	Total				· · · · · · · · · · · · · · · · · · ·	
Project Manager Department Director		XODL UCTIONS	Agreement Rev <u>//24/08</u> Date 1/31/38 Date	iew & Approvals	AA 291 Marce OFFICE USE ONLY	Jon 08 Date 2/1108 Date
Route two originals of the Finance Office - R Project Manager - cc: Public Work Engineering Project Mar	etain one original Retain second ori <s< td=""><td>eview and signature ginal for delivery to</td><td></td><td>(Note to Finance: Please write da</td><td>ate of Agreement in appropriate spate $\mathbb{R}/4/08$</td><td></td></s<>	eview and signature ginal for delivery to		(Note to Finance: Please write da	ate of Agreement in appropriate spate $\mathbb{R}/4/08$	

PW021208-13

January 24, 2008

Proposal for Sampling, Analysis and Reporting Related to 2008 Environmental Monitoring Rapid City Landfill, Rapid City, South Dakota

PROPOSAL FOR SAMPLING, ANALYSIS, AND REPORTING RELATED TO 2008 ENVIRONMENTAL MONITORING RAPID CITY LANDFILL RAPID CITY, SOUTH DAKOTA

January 24, 2008

AUTHORIZATION

FOR THE CLIENT:

Client: _City of Rapid City, Rapid City Landfill	
Authorized Signature:	
Typed Name:	
Title:	-
Date:	
Attest: Jim Preston, Finance Officer ACCEPTANCE	
FOR AMERICAN ENGINEERING TESTING, INC:	
Authorized Signature: 797B Hoch	<u></u>
Typed Name: <u>Roger B. Hodson</u>	<u> </u>
Title: _Senior Environmental Project Manager	
Date: 1/24/08	
· · · · · · · · · · · · · · · · · · ·	CLK

Y:\wp8\Environmental\Proposals\2007\Rapid City Landfill 2008 Env Monitoring Authorization.wpd

1/24/08

PURPOSE AND SCOPE OF WORK TO BE PERFORMED

The purpose of our work on the project will be to assist the City of Rapid City in Compliance with the Administrative Rules of South Dakota and Environmental Protection Agency regulations specified in 40 CFR Parts 257 and 258, "Solid Waste Disposal Facility Criteria," October 9, 1991.

In order to accomplish the above purpose we propose to provide professional services to the City of Rapid City in the form of labor, equipment, supplies, insurance, and other necessary work components necessary to perform the following tasks for Rapid City's Solid Waste Operations Division:

- 1. Field sampling surface water discharges, wastewater discharges, and groundwater monitoring wells;
- 2. Laboratory analysis of surface water samples, wastewater samples, groundwater samples, petroleum contaminated soil samples, and yard waste compost samples;
- 3. Quarterly screening of permanent and existing temporary methane monitoring wells.
- 4. Limited soils work in calculating permeability and compaction; and
- 5. Completion and submission of the 2007 annual environmental monitoring report;

Anticipated Work Items

Surface Water:

- 1. Providing qualified personnel for surface water discharge sampling with a minimum of one-hour notice. This is estimated to occur eight times per year during high precipitation months.
- 2. Picking up prepared sample bottles, trip blanks, etc. from a state-certified lab and returning all to that lab upon completion of sampling with a properly completed chain-of-custody.
- 3. Grab samples will be collected weekly during discharge from Outfall 001. Analytes include: TSS, pH, BOD₅, Cd, Cu, Pb, Hg, Zn, As, CrIII, CrVI, Se, Ag, hardness, phenol, toluene, ammonia, DO, temperature and livestock suitability testing.
- 4. Sampling for whole effluent toxicity testing if requested or required. For the purposes of this proposal we have budgeted for two whole effluent toxicity tests per year.
- 5. Measuring field pH and temperature at time of sampling. Temperature will be

	measured with a thermistor or a mercury-filled or dial type thermometer. Readings
	will be recorded to the nearest whole degree Celsius. The date and time will be
	recorded on field logs and chain-of-custody.
6.	pH will be taken within 15 minutes of sample collection with a pH meter. The pH
	meter will be read to 0.01 SU, be equipped with a temperature compensation
	adjustment, and be capable of simultaneous calibration to two points on the pH scale
	bracketing the expected pH.
7.	If a visual sheen is observed during sampling, a grab sample for TPH will be taken.
	If no sheen is present, a TPH sample is not required. For the purposes of this
	proposal we have budgeted for TPH analysis.
8.	Metals analysis will be performed on a "Total Recoverable" basis and hardness will
	be measured in the laboratory.
9.	Analytical results will be reported to Solid Waste Operations. Any concentrations
	exceeding discharge permit limits will be reported directly to the Solid Waste
	Operations Superintendent as soon as known.
10.	Copies of the field logs, including visual observations and field measurements, will
	be forwarded to Solid Waste Operation within 72 hours of the sampling event.
11.	A summary of the surface water sampling will be incorporated into the annual report.
Wastewater:	
1.	Providing qualified personnel for required wastewater testing with a minimum of two

- hours notice of a discharge. This is estimated to occur 15 times per year. Occurrence may increase with greater precipitation or future operational changes.
- 2. Picking up prepared sample bottles, trip blanks, etc. from a state-certified lab and returning all to lab upon completion of sampling with a properly completed chain-of-custody.
- 3. Grab samples to be collected once per batch discharge from the aerated leachate pond. Analytes include: total As, Cd, Cr, CrVI, Cu, Pb, Hg, Ni, Se, Ag, Zn, O&G, BOD, TSS, field pH, and temperature. Batch discharges are usually complete within 12 hours of start.
- 4. Field pH will be taken within 10 minutes after sample collection.
- 5. Analytical results will be reported in mg/l, except for pH in standard units. Analysis will include the date of analysis, the analyst's initials, and a list of analysis method numbers used, as approved by 40 CFR 136.

- 6. Notifying the Solid Waste Operations Superintendent immediately if field pH readings are 5.0 SU or less.
- 7. Notifying the Solid Waste Operations Superintendent, as soon as known, if any concentrations exceed discharge permit limits.
- 8. Analysis results will be reported to Solid Waste Operations in the units listed in the waste water discharge permit.
- 9. Copies of the field logs, including visual observations and field measurements, will be forwarded to Solid Waste Operations within 72 hours of the sampling event.
- 10. A summary of the waste water sampling will be incorporated into the annual report

Groundwater:

- 1. Providing qualified personnel for semi-annual groundwater monitoring. Ten to 11 wells will be sampled during the April and October events.
- 2. Picking up prepared sample bottles, trip blanks, etc. from state-certified lab and returning all to lab upon completion of sampling with a properly completed chain-of-custody.
- 3. Utilizing all appropriate QA/QC practices for field sampling of groundwater.
- 4. Measuring and recording groundwater elevations during both semi-annual sampling events for all site monitoring wells.
- 5. Collecting samples from each well using a peristaltic pump.
- 6. Sampling wells 1-8-19 dab2 (if insufficient water sample dab1), 1-8-19da2, 1-8-19dd, 1-8-19ddd2 (if insufficient water sample ddd1), 1-8-19dc, 1-8-19cdd2 (both cdd1 and cdd2 are historically dry), and 1-8-19cab1 semiannually for 40 CFR Appendix I volatile organic compounds (VOCs) and the alternative list to metals biochemical oxygen demand (BOD), chemical oxygen demand (COD), total organic carbon (TOC), chloride, ammonia, sulfate, sulfide, dissolved iron and manganese, methane, nitrate, and major cations (calcium, sodium, potassium). Monitoring wells 1-8-19ad2, 1-8-19ad1, and 1-8-19da1 will be sampled and analyzed semiannually for the alternative list to metals and annually 40 CFR Appendix I VOCs and the alternative list to metals. As recommended in the 2007 Annual Report, dated March 21, 2007, sampling of monitoring well 1-8-19ca2 will be changed from annual to semi-annually. The samples obtained from monitoring well 1-8-19ca2 will be analyzed for 40 CFR Appendix I VOCs and the alternative list to metals. If requested by the SD DENR, AET will also obtain groundwater samples from the new

wells 1-8-19adc and 1-8-19da5 and analyze those samples semi-annually for 40 CFR Appendix I VOCs and the alternative list to metals. Field measurements for temperature, pH, conductivity, dissolved oxygen (DO), and oxidation-reduction potential will be performed at each well during sampling using a low flow purging method via a flow-through cell. All groundwater monitoring will be done in accordance with the approved groundwater monitoring program (GWMP) for the Rapid City Landfill, as approved by the South Dakota Department of Environment and Natural Resources (SD DENR). Forwarding analytical results and field measurements for the semiannual monitoring 7. events to Solid Waste Operations upon completion. 8. Notifying the Solid Waste Operations Superintendent, as soon as known, if any concentrations exceed regulatory limits. Compiling and completing a statistical analysis of the new data and entering the data 9. into the annual groundwater report. The statistical analysis procedure will comply with 40 CFR Part 258.53, Sections e through i. Completing an annual report summarizing the groundwater monitoring data for the 10. vear 2007 with appropriate statistical comparison to prior data. An initial report will be completed and submitted to Solid Waste Operations no later than February of 2008 and two final copies (one to Solid Waste Operations and one to SD DENR) by April 1, 2008. This report will discuss the applicable items in 40 CFR Part 258.53, Sections a through i.

- 11. Forwarding copies of field logs, including visual observations, field measurements, and analytical results to Solid Waste Operations.
- 12. Electronic files related to the groundwater monitoring statistical analysis and annual report will be maintained and provided to Solid Waste Operations upon request.

Quarterly Methane Monitoring:

- 1. Providing qualified personnel and equipment for quarterly field screening for methane from permanent and existing temporary methane monitoring wells.
- 2. Submitting a summary of the results of the above activities within the annual report.
- 3. Advising the Solid Waste Operations Superintendent of any significant issues related to methane.

Petroleum Contaminated Soils:

- 1. Analyzing soil samples for total petroleum hydrocarbons. Samples may contain gasoline, diesel, JP4 or JP8. There are estimated to be 24 samples per year for analysis.
- 2. Forwarding results to Solid Waste Operations.
- 3. Faxing results, upon request, to Solid Waste Operations within 15 calender days of sample receipt.

Yard Waste Compost Samples:

- 1. Analyzing yard waste compost samples for carbon to nitrogen ratio. There are estimated to be 60 samples per year for analysis.
- 2. Faxing preliminary results to Solid Waste Operations within 15 calendar days of sample receipt.
- 3. Forwarding all final results to Solid Waste Operations.

Soils Testing:

- 1. Providing qualified personnel and equipment to perform permeability, proctor, gradation and atterberg limits testing, as requested.
- 2. Reporting results of the above tests within five working days of the test completion.

SERVICE AGREEMENT - TERMS AND CONDITIONS

SECTION 1 - RESPONSIBILITIES

1.1 - The party to whom the proposal/contract is addressed is considered the Client of American Engineering Testing, lnc. (AET). The terms and conditions stated are binding, upon acceptance, on the Client, its successors, assignees, joint ventures and third-party beneficiaries. Oral proposal acceptance or authorizing purchase orders from the Client are considered formal acceptance of AET's terms and conditions.

<u>1.2</u> - Prior to AET performing work, Client will provide AET with all information that may affect the cost, progress, safety and performance of the work. This includes, but is not limited to, information on proposed and existing construction, all pertinent sections of contracts between Client and property owner, site safety plans or other documents which may control or affect AET's work. If new information becomes available during AET's work, Client will provide such information to AET in a timely manner. Failure of client to timely notify AET of changes to the project including, but not limited to, location, elevation, loading, or configuration of the structure or improvement will constitute a release of any liability of AET. Client will provide a representative for timely answers to project-related questions by AET.

1.3 - Work by AET will not relieve other persons of their responsibility to perform work according to the contract documents or specifications, and AET will not be held responsible for work or omissions by Client and other persons. AET does not perform construction management, general contracting or surveying services and our presence on site does not constitute any assumption of those responsibilities. AET will not be responsible for directing or supervising the work of others, unless specifically authorized and agreed to in writing.

1.4 - Work by AET often includes sampling at specific locations. Inherent with such sampling is variation of conditions between sampling locations. Client recognizes this uncertainty and the associated risk, and acknowledges that opinions developed by AET, based on the samples, are qualified to that extent.

1.5 - AET is not responsible for interpretations or modifications of AET's recommendations by other persons.

1.6 - Should changed conditions be alleged, Client agrees to notify AET before evidence of alleged change is no longer accessible for evaluation.

SECTION 2 - SITE ACCESS AND RESTORATION

2.1 - Client will furnish AET safe and legal site access.

2.2 - It is understood by Client that in the normal course of the work, some damage to the site or materials may occur. AET will take reasonable precautions to minimize such damage. Restoration of the site is the responsibility of the Client.

SECTION 3 - SAFETY

3.1 - Client shall inform AET of any known or suspected hazardous materials or unsafe conditions at the work site. If, during the course of AET's work, such materials or conditions are discovered, AET reserves the right to take measures to protect AET personnel and equipment or to immediately terminate services. Client shall be responsible for payment of such additional protection costs.

<u>3.2</u> - AET shall only be responsible for safety of AET employees at the work site. The Client or other persons shall be responsible for the safety of all other persons at the site.

SECTION 4 - SAMPLES

4.1 - Client is responsible for informing AET of any known or suspected hazardous materials prior to submittal to AET. All samples obtained by, or submitted to, AET remain the property of the Client during and after the work. Any known or suspected hazardous material samples will be returned to the Client at AET's discretion.

4.2 - Non-hazardous samples will be held for 30 days and then discarded unless, within 30 days' of the report date, the Client provides a written request that AET store or ship the samples, at the Client's expense.

SECTION 5 - PROJECT RECORDS

The original project records prepared by AET will remain the property of AET. AET shall retain these original records for a period of three years following submission of the report, during which period the project records can be made available to Client at AET's office at reasonable times.

SECTION 6 - STANDARD OF CARE

AET will perform services consistent with the level of care and skill normally performed by other firms in the profession at the time of this service and in this geographic area, under similar budgetary constraints. No other warranty is implied or intended.

SECTION 7 - INSURANCE

AET carries Worker's Compensation, Comprehensive General Liability, Automobile Liability and Professional Liability insurance. AET will furnish certificates of insurance to Client upon request.

Page 2 of 2

SECTION 8 - DELAYS

If AET work delays are caused by Client, work of others, strikes, natural causes, weather, or other items beyond AET's control, a reasonable time extension for performance of work shall be granted, and AET shall receive an equitable fee adjustment.

SECTION 9 - PAYMENT, INTEREST AND BREACE

<u>9.1</u> - Invoices are due on receipt. Client will inform AET of invoice questions or disagreements within 15 days of invoice date; unless so informed, invoices are deemed correct.

9.2 - Chent aggees & pay interest on unraid invarce balances or or it is a low por month, or the maximum allowed by it, which ever jellow, beginning be days aber induice bate.

9.3 - If any invoice remains unpaid for 60 days, such non-payment shall be a material breach of this agreement. As a result of such material breach, AET may, at its sole option, terminate all duties to the Client or other persons, without liability.

9.4 - Client will pay all AET collection expenses and attorney fees relating to past due fees which the Client owes under this agreement.

SECTION W-MEDIATION

1917 - Clipser god ABT agosé that aby cliptin, dispette Kother minter in question arlying dat it Kretzled with Agricment 36 shall be subject Demodilation period on presedent de artification Mise indution of legal prequisible productings by either party.

10.2 - Unless Clivel and AST mutually agree otherwise, methation shall be be accordance with the Construction Industry Mediation Rives be the American Arbitration Association. Request for mediation shall be be withing and the parties shall share the mediator's for and any filling thes equivably. The mediator shall be accordable be block parties and shall have explained be combaried construction matters.

SECTION W-LITIGATION REIMBURSEMENT

Payment of AET costs for Chefit lawefits against AFT which de displayed be all judged substatially by AKT's fayor will be the Client's responsibility. Apply cable costs include, due de not lingued of attached a

SECTION 12 - MUTUAL INDEMNIFICATION

<u>12.1</u> - AET agrees to hold harmless and indemnify Client from and against liability arising out of AET's negligent performance of the work, subject to Section 13 and any other limitations, other indemnifications or other provisions Client and AET have agreed to in writing.

<u>12.2</u> - Client agrees to hold harmless and indemnify AET from and against liability arising out of Client's negligent conduct, subject to any limitations, other indemnifications or other provisions Client and AET have agreed to in writing. 12.3 - If Client has indemnity agreement with other persons, the Client shall include AET as a beneficiary.

SECTION 13 - LIMITATION OF LIABILITY

Client agrees to limit AET's liability to Client arising from negligent acts, errors or omissions, such that the total liability of > AET shall not exceed \$10,000 ft shall not exceed the project the which every gridater. the firmits of any > (Insurance Coverage

SECTION 14 - TERMINATION

After 7 days written notice, either party may elect to terminate work for justifiable reasons. In this event, the Client shall pay for all work performed, including demobilization and reporting costs to complete the file.

SECTION 15 - SEVERABILITY

Any provisions of this agreement later held to violate a law or regulation shall be deemed void, and all remaining provisions shall continue in force. However, Client and AET will in good faith attempt to replace an invalid or unenforceable provision, with one that is valid and enforceable, and which comes as close as possible to expressing the intent of the original provision.

SECTION 16 - GOVERNING LAW

This Agreement shall be construed, and the rights of the parties shall be determined, in accordance with the Laws of the State of Magenetic South Dakota, 7th Judicial Circuit, Rapid City, Pean. Co.

56

SECTION 17 - ENTIRE AGREEMENT

This agreement, including attached appendices, is the entire agreement between AET and Client. This agreement nullifies any previous written or oral agreements, including purchase/work orders. Any modifications to this agreement must be in writing.

2008 SAMPLING, ANALYSIS AND REPORTING FOR RAPID CITY LANDFILL (analysis by Energy labs & Test America)

SURFACE WATER (Outfall 001)

Surface Water- Outfall 001 (8 events)								
Preparation, Loading/Unloading	1	hours	@	\$	60.00	=	\$	60.00
Pickup Mileage	17	miles	@		0.75	=	\$	12.75
Travel Time	1	hours	@		60.00	=	\$	60.00
Site Time	1	hours	@		60.00	=	\$	60.00
Sample Prep. (pickup/return samples to lab)	0.25	hours	@		60.00	=	\$	15.00
Sampling Equipment (gloves, ice)	1	events	@		5.00	=	\$	5.00
Equipment rental (pH/temp)	1	events	@		25.00	=	\$	25.00
Reporting	1	hours	@		65.00	=	Ψ \$	65.00
Project Management	0.5	hours	@		70.00	=		35.00
	0.5	nours	W	φ	70.00	-	\$	35.00
Laboratory Services Subcontractor-Energy Labs			0	~	240.00	_	•	040.00
As, Cd, Cr, Cu, Pb, Hg, Se, Ag, Zn, Ammonia, CrIII, CrVI, Hardness, BOD, DO, pH, Phenol, TSS, Toluene	1	samples	@		310.00	=	\$	310.00
TPH (if visual sheen is observed during sampling)	1	samples	@		45.00	=	\$	45.00
Livestock Suitability Testing	1	samples	@	\$	45.50	=	\$	45.50
Chemistry Markup (includes invoice processing fee, interest on fees paid)						=	\$	20.03
SUB TOTAL - Surface Water-Outfall 001 Per Event							\$	758.28
TOTAL - Surface Water-Outfall 001 (8 events)							\$	6,066.20
SURFACE WATER - Outfall 001 - Whole Effluent Toxicity Testing (if requested)								
Whole Effluent Toxicity Testing (if requested or required)	2	samples	@	\$	700.00	=	\$	1,400.00
Chemistry Markup (includes invoice processing fee, interest on fees paid)			0	Ŧ		=	\$	70.00
TOTAL - Surface Water-Outfall 001 - Whole Effluent Toxicity Testing							\$	1,470.00
							•	.,
WASTE WATER - Leachate Pond (15 events)								
Preparation, Loading/Unloading	1	hours	@	\$	60.00	=	\$	60.00
Pickup Mileage	17	miles	@	\$	0.75	=	\$	12.75
Travel Time	1	hours	@		60.00	=	\$	60.00
Site Time	1	hours	@	\$	60.00	=	\$	60.00
Sample Prep. (pickup/return samples to lab)	0.25	hours	@	\$	60.00	=	\$	15.00
Sampling Equipment (gloves, ice)	1	events	@	\$	60.00	=	\$	60.00
Equipment rental (pH/temp)	1	events	@	\$	25.00	=	\$	25.00
Reporting	1	hours	@	\$	65.00	=	\$	65.00
Project Management	0.5	hours	@	\$	70.00	=	\$	35.00
Laboratory Services Subcontractor-Energy Labs			6	*			*	00.00
As, Cd, Cr, Cu, Pb, Hg, Ni, Se, Ag, Zn, CrVI, O & G, BOD, TSS, TPH	1	samples	@	\$	232.00	=	\$	232.00
Chemistry Markup (includes invoice processing fee, interest on fees paid)	•	oumpies	e	Ψ	202.00	=	\$	11.60
SUB TOTAL - Waste Water- Per Event						-		
TOTAL - Waste Water (15 events)							\$ \$	636.35 9,545.25
TOTAL - Waste Water (15 events)							Ψ	0,040.£0
GROUND WATER (April/October events and annual report)								
Semi-Annual Event (April)								
Preparation, Loading/Unloading (two-man crew)	1	hours	@	\$	120.00	=	\$	120.00
Pickup Mileage	38	miles	@	\$	0.75	=	\$	28.50
Travel Time (two man crew)	2	hours	@	\$	120.00	=	\$	240.00
Site Time (two man crew)	13	hours	@	\$	120.00	=	\$	1,560.00
Sample Prep. for Shipping	1	hours	@	\$	60.00	=	\$	60.00
Shipping, FEDEX	1	each	@	\$	450.00	=	\$	450.00
Sampling Equipment (gloves, ice, tubing, peristaltic pump, flow cell)	13	samples	@	\$	12.00	H	\$	156.00
Equipment rental (pH/temp/conductivity, interface probe)	1	events	@	\$	75.00	=	\$	75.00
Project Management	2	hours	@	\$	70.00	=		140.00
Laboratory Services Subcontractor-Test America	~	nouis	<u>u</u>	Ψ	70.00		Ψ	140.00
-	10	oomalaa	0	¢	204 42	_	¢	2 044 20
Appendix I VOCs and Alternative List to Metals	10	samples	@	\$	304.42	=	\$	3,044.20
Alternative List to Metals	3	samples	@		215.60	=	\$	646.80
Trip Blank, VOCs	1	samples	@		0.00	=	\$	0.00
Equipment Blank, VOCs	2	samples	@	\$	88.81	=	\$	177.62
Chemistry Markup (includes invoice processing fee, interest on fees paid)						=	\$	193.43
SUB TOTAL - Semi Annual Event (April)							\$	6,891.55

data/qp8/envi/proposals/RCSLF-2008.wb3

e								
Semi Annual Event (October)			~	•	PW021	120)8-	13 400.00
Preparation, Loading/Unloading (two-man crew)	1	hours	@	\$				
Pickup Mileage	38	miles	@	\$	0.75	=	\$	28.50
Travel Time (two man crew)	2	hours	@	\$	120.00	=	\$	240.00 1,560.00
Site Time (two man crew)	13	hours	@	\$ ¢	120.00	=	\$	60.00
Sample Prep. for Shipping	1	hours	@	\$ ¢	60.00	=	\$	450.00
Shipping, FEDEX	1	each	@	\$ ¢	450.00	=	\$	450.00
Sampling Equipment (gloves, ice, tubing, peristaltic pump, flow cell)	13	samples	@	\$	12.00 75.00	=	\$	75.00
Equipment rental (pH/temp/conductivity, interface probe)	1 2	events	@	\$ ¢	75.00	=	\$ \$	140.00
Project Management	2	hours	@	\$	70.00	-	φ	140.00
Laboratory Services Subcontractor-Test America	13	camples	0	¢	304.42	=	\$	3,957.46
Appendix I VOCs and Alternative List to Metals	13	samples	@ @	\$ \$	0.00	-	φ \$	0.00
Trip Blank, VOCs	2	samples	@	φ \$	88.81	=	φ \$	177.62
Equipment Blank, VOCs	2	samples	W	φ	00.01	=	φ \$	206.75
Chemistry Markup (includes invoice processing fee, interest on fees paid)						-	φ \$	7,171.33
SUB TOTAL - Semi Annual Event (October)							φ	7,171.55
Annual Report								
Report Preparation (annual report with statistical analysis)	1	houro	0	¢	70.00	=	¢	280.00
Project Manager	4	hours	@	\$			\$ ¢	
Staff Professional (annual report)	50	hours	@	\$ ¢	65.00	=	\$ ¢	3,250.00 2,000.00
Statistical Analysis - Lump Sum Subcontractor- LBG	1	each	@	\$	2,000.00	=	\$ \$	2,000.00
Draftsperson	6	hours	@	\$	55.00 35.00	=	э \$	140.00
Clerical	4 2	hours	@	\$ \$	90.00	=	ֆ \$	140.00
Senior Review	2	hours	@	φ	30.00	-	Ψ \$	6,180.00
SUB TOTAL - Annual Report FOTAL - Groundwater - Apr/Oct events and Annual Report							\$	20,242.89
Pickup Mileage Travel Time Site Time Equipment rental (Combustible Gas Indicator) Project Management SUB TOTAL - Four Quarterly Events	76 4 24 4 2	miles hours hours events hours	0000	\$ \$ \$ \$	0.75 60.00 60.00 75.00 70.00	= = =	\$ \$ \$ \$ \$ \$ \$ \$	57.00 240.00 1,440.00 300.00 140.00 2,417.00
Reporting Report Preparation (summary of results in annual report)								
Project Manager	2	hours	@	\$	70.00	=	\$	140.00
Staff Professional	6	hours	@	\$	65.00	=	\$	390.00
Draftsperson	4	hours	@	\$	55.00	=	\$	220.00
Clerical	0.5	hours	@	\$	35.00	=	\$	17.50
Senior Review	0.5	hours	@	\$	90.00	=	\$	45.00
SUB TOTAL - Reporting			0				\$	812.50
FOTAL - Quarterly Methane Monitoring							\$	3,229.50
PETROLEUM CONTAMINATED SOILS (24 samples)								
Laboratory Services Subcontractor-Energy Labs	1	samples	@	¢	65.00	=	\$	65.00
Laboratory analysis (TPH-G,BTEX,MTBE,Naph or TPH-FO,Naph)	1	samples	<i>w</i>	φ	05.00	=	Ψ \$	3.25
Chemistry Markup (includes invoice processing fee, interest on fees paid) SUB TOTAL - Petroleum Contaminated Soils -Per Sample							\$	68.25
TOTAL - Petroleum Contaminated Soils (24 samples)							\$	1,638.00
VARD WASTE CONDOST SAMELES (50 complet)								
YARD WASTE COMPOST SAMPLES (60 samples) Laboratory Services Subcontractor-Energy Labs								
C-N Ratio	60	samples	0	\$	35.00	=	\$	2,100.00
C-N Ratio Chemistry Markup (includes invoice processing fee, interest on fees paid)	00	oumpies	w.	Ψ	00.00	=	Ψ \$	105.00
TOTAL - Yard Waste Compost Samples (60 samples)						-	\$	2,205.00
10 17E - Lata Maste composi gampies (or samples)							*	_,

SQILS TESTING					~~	0 4 0	
Permeability Tests	1	tests	@	\$ PW021 175.00	20 _	8-13 \$	175.00
Proctor Tests	1	tests	@	\$ 130.00	=	\$	130.00
Gradation Tests	1	hours	@	\$ 68.00	=	\$	68.00
Atterberg Limits	1	tests	@	\$ 68.00	=	\$	68.00
Field Technician	2.5	hours	@	\$ 50.00	=	\$	125.00
Reporting	1	hours	0	\$ 41.00	=	\$	41.00
Project Management	1	hours	@	\$ 85.00	=	\$	85.00
TOTAL - Soils Testing						\$	692.00

TOTAL COST

A

\$ 45,088.84

Δ	CORD CERTIFIC		ITY INSU	RANCE	PW02 csr at	DATE (MM/DD/YY)			
					AMERI-1	01/14/0			
			ONLY AND	CONFERS NO RI	GHTS UPON THE CERT E DOES NOT AMEND, E	IFICATE			
	Paul Agency Inc E Roselawn Ave Ste 31				FORDED BY THE POLIC				
	Paul MN 55117-1943	F4 400 0000							
SURE	ne:651-488-0789 Fax:6	51-488-0989		FFORDING COVE		NAIC #			
	AMERICAN CONSULTIN	NG SERVICES	INSURER A:	TRAVELERS :		24775			
	TESTING INC / AM I INC/ AM EQUIPMENT	PETROGRAPHIC	INSURER C:						
	550 Cleveland Ave St Paul MN 55114-1	N	INSURER D:						
			INSURER E:						
_	RAGES								
any f May f	POLICIES OF INSURANCE LISTED BELOW HAVE REQUIREMENT, TERM OR CONDITION OF ANY C PERTAIN, THE INSURANCE AFFORDED BY THE LIES, AGGREGATE LIMITS SHOWN MAY HAVE I	ONTRACT OR OTHER DOCUMENT WITH RE POLICIES DESCRIBED HEREIN IS SUBJEC	SPECT TO WHICH THIS (CERTIFICATE MAY BE	ISSUED OR				
r ad r ins	D'CI	POLICY NUMBER	DATE (MM/DD/YY)	POLICY EXPIRATION DATE (MM/DD/YY)	LIMIT	rs			
1	GENERAL LIABILITY				EACH OCCURRENCE	\$ 1000000			
	X COMMERCIAL GENERAL LIABILITY	P630539K8896COF08	01/01/08	01/01/09	DAMAGE TO RENTED PREMISES (Ea occurence)	\$ 50000			
			· ·		MED EXP (Any one person)	\$ 5000			
					PERSONAL & ADV INJURY	\$ 1000000			
					GENERAL AGGREGATE	\$ 1000000			
	GEN'L AGGREGATE LIMIT APPLIES PER:				PRODUCTS - COMP/OP AGG	\$ 1000000			
1		P810797K9140C0F08	01/01/08	01/01/09	COMBINED SINGLE LIMIT (Ea accident)	\$ 1000000			
	ALL OWNED AUTOS				BODILY INJURY (Per person)	\$			
	X HIRED AUTOS X NON-OWNED AUTOS				BODILY INJURY (Per accident)	\$			
					PROPERTY DAMAGE (Per accident)	\$			
					AUTO ONLY - EA ACCIDENT	\$			
	ANY AUTO				OTHER THAN AUTO ONLY: AGG	\$			
+	EXCESS/UMBRELLA LIABILITY	· · ·			EACH OCCURRENCE	\$			
	OCCUR CLAIMS MADE				AGGREGATE	\$			
						\$			
	DEDUCTIBLE					\$			
	RETENTION \$				WC STATU- IOTH-	\$			
	ORKERS COMPENSATION AND IPLOYERS' LIABILITY	PFUB709K909308	01/01/08	01/01/09	X TORY LIMITS OTH- E.L. EACH ACCIDENT	\$ 100000			
AN OF	IY PROPRIETOR/PARTNER/EXECUTIVE FICER/MEMBER EXCLUDED?	ECONVE		01/01/03	E.L. DISEASE - EA EMPLOYEE				
lf y SP	ves, describe under ECIAL PROVISIONS below				E.L. DISEASE - POLICY LIMIT	\$ 500000			
то	HER								
			~						
	TION OF OPERATIONS / LOCATIONS / VEHICL	ES / EXCLUSIONS ADDED BY ENDORSEM		SNS					
**				-					
			ANAPILATIA						
K I II	FICATE HOLDER			· · · · · · · · · · · · · · · · · · ·	ED POLICIES BE CANCELLED B				
		RAPIDCO	, ,			30 DAYS WRITT			
					NAMED TO THE LEFT, BUT FAIL				
	CITY OF RAPID CITY 300 6TH ST		IMPOSE NO OBLIG	SATION OR LIABILITY O	OF ANY KIND UPON THE INSURE	ER, ITS AGENTS OR			
	RAPID CITY SD 5770:	1		REPRESENTATIVES.					
			AUTHORIZED REPRESENTATIVE						
			1 4.0	arry	ully				

ACORD 25 (2001/08)
------------	----------

IMPORTANT

If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

DISCLAIMER

The Certificate of Insurance on the reverse side of this form does not constitute a contract between the issuing insurer(s), authorized representative or producer, and the certificate holder, nor does it affirmatively or negatively amend, extend or alter the coverage afforded by the policies listed thereon.